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Halloween Multiplication

Solve the following word problems.

On halloween, each child in a neighborhood
received 4 bags of treats. If there are 30 children
in the neighborhood, how many bags of treats
were given out in total?

A halloween party had 5 bowls of candy. Each bowl
contained 40 candies. How many candies were
there in total?

A halloween store sold 6 costumes each for 30
dollars. How much did the store earn from selling
the costumes?

A halloween decoration has 8 strands of lights.
Each strand has 50 lights. How many lights are
there in total on the decoration?

A group of children went trick-or-treating and each
child collected 9 bags of candy. If there were 20
children, how many bags of candy did they collect
in total?

A halloween party had 7 punch bowls. Each punch
bowl had 30 cups of punch. How many cups of
punch were there in total at the party?

7 A halloween store sold 20 pumpkins each for 5
dollars. How much did the store earn from selling

4 ) the pumpkins?
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